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? Grey line: exponential fit Peak flux: 3.472+/- 0.569 c/s/cm? é
= Black line: power law + gauss fit Fluence : 26.97+/- 4.43 c/lcm? 3
E J Dashed line: power law o ) ’ 3
— Duration: 17.01+/- 3.87s —
= Best fit model: 1. =
= Best fluence model: 1. =
= Best duration model: 1. =
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; Exponential fit é
=  Expon.time: 5.21+/- 1.01s (chi*red= 0.82) =
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; Power law fit é
= Power law index: -1.605+/- 0.254 (chi’-red= 0.82) 3
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—  Power law fit plus Gaussian (st.dev.= 8.04+/- 1.30 s, fracgs= 0.00+/- 0.00) =
- Power law index: *******+/.664.814 (chi*-red= -1.00) -
S by * W eyl L
= ‘ﬂ%MHMHW H+ﬁﬁ%+++++Hﬁ%++*+*ﬁi++H+ﬁﬂ%ﬁwHWWWHHWW*+++Mﬂwﬁw*#ﬂHﬂﬁmﬁﬁﬂuﬁW i wHmﬂﬁﬂmﬁwﬂ*Hﬂw+MHHﬂimﬁﬂW@ﬁgﬁﬂmwwﬁt
E | I I I I I I I I I | I I I I I I I I I | I E
0 100 200 300

Time [s]



